
Sample Paper – 2009

Class – XII

Subject – Mathematics
Time allowed: 3 hours






Maximum Marks: 80






SECTION ‘A’ (1 Mark each)

1. Find the zeroes of the polynomial 2x2+5x+2

2. What will be the possible degree of the remainder when we divide x4 + 10x3 – 9 by 

      x3 + 3?

3. If the nth tern of an AP is (2n + 1), find the  first 4 terms of the AP
4. Find the values of k for the quadratic equation kx (x – 2) + 6 = 0 have equal roots.
5. Write the formula for the mode of classified data.

6. If probability of an event E is 2/3 find the probability of not the event E.

7. If 
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, find A and B
8. If 3x+ky=7  , 6x + 4y = 5 has no solution find k

9. If   tanθ   +  1/tanθ   =   2, then  find  the  value  of  tan2θ   +   1/tan2θ.

10.  Find the 10th term of the AP : 2, 7, 12, . . .                 

                                                          SECTION ‘B’ (2 marks each)

11. Find the solution of the pair of equations
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   Or

                   Solve 2x + 3y = 11 and 2x – 4y = – 24 and hence find the value of ‘m’ for which

                   y = mx + 3.

12. Find the roots of the equation 2x2 – 5x + 3 = 0, by factorization
13. Find the mode of the data.
	Marks
	0-10
	10-20
	20-30
	30-40
	40-50

	Number of Student
	3
	5
	11
	7
	2


!4.   Suppose we throw a die once.   What is the probability of getting a number less than or

        equal to 4 ?

!5.    One card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting

         a king of red colour 

                                                             Or
   A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn at random

from the box, find the probability that it bears  a number divisible by 5. 

                                              SECTION ‘C’ (3 marks each)

16
Solve the following system of linear equations graphically:



2x – 5y + 4 = 0
;

2x + y – 8 = 0


Also, find the points where the lines meet the y – axis.

17
Prove that :        secθ   +  tanθ   -  1                =           1  + sinθ

                                                   tanθ    -  secθ   + 1                                cosθ







OR


Evaluate:
sec² 54º  _-   cot² 36º   +    2 sin² 38º . sec² 52º  -  sin² 45º



              cosec² 57º - tan² 33º

18. Determine the number of terms of the A.P 3, 5, 7, 9, …….., 201. Also find the 12th term from the end  

OR

      Find  the  sum  of all natural numbers between 50 and 500 which are divisible by 7.

19      A game consists of tossing a one rupee coin 3 times and noting its outcome each time.

        Hanif wins if all the tosses give the same result i.e., three heads or three tails, and loses

         otherwise. Calculate the probability that Hanif will lose the game.

20.   The 17th term of A.P exceeds its 10th term by 7 . find the common      difference.

21.    Find the roots of the equation 5x2 – 6x – 2 = 0 by the method of completing

          the square. 

22. In PQR, right-angled at Q, PR + QR = 25 cm and PQ = 5 cm. Determine the values of  

          sin P,  cos P and tan P

23.   A survey regarding the heights (in cm) of 51 girls of Class X of a school was conducted and   

       the following  data was obtained

	Height (in cm)
	135-140
	140 - 145
	145 - 150
	150 - 155
	155 - 160
	160 - 165

	Number of girls
	4
	7
	18
	11
	6
	5


          Find the median height
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25 A die is thrown twice. What is the probability that, 5 will come up at least once?

 SECTION ‘D’ (6 marks each)

26. The sum of a two-digit number and the number obtained by reversing the digits is 66. If the 

         digits of the number differ by 2, find the number. How many such numbers are there? 

27. An express train takes 1 hour less than a passenger train to travel 132 km between Mysore  and Bangalore (without taking into consideration the time they stop intermediate    

         stations). If  the average speed of the express train is 11km/h more than that of the

        passenger train, find the average speed of the two trains.

                                        OR

          A rectangular park is to be designed whose breadth is 3 m less than its  length. Its area is to be 4 square metres more than the area of a park that has already  been made in the shape of an isosceles triangle with its base as the breadth of therectangular park and of altitude 12 m . Find its length and breadth.

28. From a point P on the ground the angle of elevation of the top of a 10 m tall building is 

          30°. A flag is hoisted at the top of the building and the angle of elevation of the top of the    

         flagstaff from P is 45°. Find the length of the flagstaff and the distance of the building 

         from the point P. (You may take 3 = 1.732  

29. The angle of elevation of the top of a building from the foot of the tower is 30° and the

           angle of elevation of the top of the tower from the foot of the building is 60°. If the tower   

           is 50 m high, find the height of the building.

30.     The following frequency distribution gives the monthly consumption of electricity of

           68 consumers of a locality. Find the median, mean and mode of the data and compare  

           them 

	Monthly consumption (in units)
	65 - 85
	85 - 105
	105 - 125
	125 - 145
	145 - 165
	165 - 185
	185 - 205

	Number of consumers
	4
	5
	13
	20
	14
	8
	4
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